
In the following questions, choose the closest word in meaning for the given word: AUGUSTQ-1

UncommonA PlayfulB

DignifiedC Down To EarthD
Correct Answer : 0

In the following questions, choose the closest word in meaning for the given word: ABUNDANTQ-2

RipeA CheapB

PlentyC AbsentD
Correct Answer : 0

In the following questions, choose the opposite word of the given word: DOUBTFULQ-3

FamousA CertainB

FixedC ImportantD
Correct Answer : 0

In the following questions, choose the opposite word of the given word: ENMITYQ-4

ImportantA UnnecessaryB

FriendshipC LikenessD
Correct Answer : 0

In the following questions, choose the appropriate prepositions She was relieved _____ the pain after the effect of
medicines.

Q-5

OffA FromB

OfC WithD
Correct Answer : 0

In the following questions, choose the appropriate prepositions We haven''t seen her ____ last year, _____ she shifted to
Delhi?

Q-6

Since, HasA From, DidB

In, IsC For, HasD
Correct Answer : 0

In the following questions, replace the quoted word with the correct idiom: The article on the world population published in
today''s journal is "a duplicate of" what was published the other day

Q-7

On TenterhooksA An AnaniasB

Dead RingerC Much Of MuchnessD
Correct Answer : 0

In the following questions, replace the quoted word with the correct idiom: Students have "to face the risk" in order to
attain success in competitive exams.

Q-8

To Nip In The BudA To Take One To TaskB

A Hard Nut To CrackC Fly By NightD
Correct Answer : 0

Given below are the sentences with Idioms and Phrases quoted in. You are required to choose the most correct meaning of
the phrase from the given options. Trust Tina "to spill the beans" as she sees no reason why she shouldn't do it.

Q-9

Reveal The SecretA Arrive At The Wrong TimeB

To Make Unkind Statements About SomeoneC To Praise One'S Own AchievementD
Correct Answer : 0

Given below are the sentences with Idioms and Phrases quoted in. You are required to choose the most correct meaning of
the phrase from the given options. She is "on cloud nine" since she heard the news of her JOB

Q-10

Lost In Own WorldA Free From AnxietyB

Extremely EnthusiasticC Extremely HappyD
Correct Answer : 0



In each of the following questions, find out which part of the sentence has an error. If there is no mistake, the answer is
"no error". Our housing society comprises of

Q-11

Six Blocks AndA Thirty-Three Flats In AnB

Area Of About Thousand Square Metres.C No ErrorD
Correct Answer : 0

In each of the following questions, find out which part of the sentence has an error. If there is no mistake, the answer is
"no error". Most people would have

Q-12

Attended The Union MeetingA If They HadB

Had Longer Notice Of It.C No ErrorD
Correct Answer : 0

One of the four bold words may be either inappropriate in the context or wrongly spelt. If all the four are appropriate and
to correctly spelt, mark ‘All correct’ as the answer. The success of a man

Q-13

In BusinessA Depends OverB

His Attention To Small ThingsC All CorrectD
Correct Answer : 0

One of the four bold words may be either inappropriate in the context or wrongly spelt. If all the four are appropriate and
to correctly spelt, mark ‘All correct’ as the answer. He appears

Q-14

To Be UnreasonablyA AnxiousB

About Solving His Neighbour'S Problem.C All CorrectD
Correct Answer : 0

One of the four bold words may be either inappropriate in the context or wrongly spelt. If all the four are appropriate and
to correctly spelt, mark ‘All correct’ as the answer. The peculiar

Q-15

Dress He WearsA Gave Him A ComicalB

AppearanceC All CorrectD
Correct Answer : 0

You have to omit a word from each of the following sentences to make them grammatically correct. Identify that word. If
you will happen to see Jane, ask her to phone me.

Q-16

WillA HappenB

ToC MeD
Correct Answer : 0

You have to omit a word from each of the following sentences to make them grammatically correct. Identify that word.
Although I admit that junk food is bad for health, but I don't think that it should be banned.

Q-17

AlthoughA ThatB

ButC Either Although Or ButD
Correct Answer : 0

You have to omit a word from each of the following sentences to make them grammatically correct. Identify that word. You
need not to pay for that call

Q-18

NotA ToB

ForC ThatD
Correct Answer : 0

Identity the complex sentence.Q-19

It Being A Rainy Day, He Did Not Come To The
Office.

A It Was A Rainy Day, And So He Did Not Come To
The Office.

B

As It Was A Rainy Day, He Did Not Come To The
Office

C NoneD

Correct Answer : 0

Identify the compound sentenceQ-20

The Old Man Got Up And Walked Slowly Away.A While Gopal Threw Down The Hay, Govind Milked
The Cow.

B

The Angry Boxer Punched The Referee On The
Nose.

C The Elephant With Its Huge Body And Stumpy
Legs Is Naturally Slow In Walking.

D

C t A 0



Correct Answer : 0

Identify the simple sentenceQ-21

You Can Have All The Money You Require.A The Man Laughed As He Looked At The Picture.B

Keep Quiet, Or You Will Be Punished.C We Have To Ask The University Authorities For
Any Further Postponement Of M.A. Entrance
Examination

D

Correct Answer : 0

Select the right option of the narration:-They said, 'Let us come in'.Q-22

They Told That Let Them Be Allowed To Come In.A They Requested That They Might Be Allowed To
Come In.

B

They Said That If They Are Allowed To Come In.C They Requested Me To Let Them Come In.D
Correct Answer : 0

Select the right option of the narration:-The Professor said that nobody could solve the problem.Q-23

The Professor Said, 'Nobody Can Solve The
Problem'.

A The Professor Said, 'Nobody Could Solve The
Problem

B

The Professor Exclaimed, 'Nobody Could Solve
The Problem

C The Professor Exclaimed, 'Nobody Can Solve The
Problem?

D

Correct Answer : 0

Select the right option of the narration:- I asked my sister if she had returned the mobile phone to her friend.Q-24

I Said To My Sister, 'Have You Returned The
Mobile Phone To Your Friend?'

A I Said To My Sister, 'Did You Return The Mobile
Phone To My Friend?'

B

I Asked My Sister, 'Have You Returned The
Mobile Phone To My Friend?

C I Asked My Sister, 'Have You Returned The
Mobile Phone To Your Friend?

D

Correct Answer : 0

Given below are sentences with quoted phrases. You are required to choose the best substitute for the given options She
"makes it certain" that she will never fight with her best friend over a pity thing like this.

Q-25

AssuresA InsuresB

EnsuresC SeizuresD
Correct Answer : 0

Given below are sentences with quoted phrases. You are required to choose the best substitute for the given options This
is his first press conference with the media, he is anxious because he "speaks less".

Q-26

SullenA TerseB

GarrulousC ReticentD
Correct Answer : 0

Given below are sentences with quoted phrases. You are required to choose the best substitute for the given options We
have bought a new machine for our mother to help her in household chores, "the machine can easily be carried
anywhere".

Q-27

CartableA PortableB

PotableC RelatableD
Correct Answer : 0

Given below are sentences with quoted phrases. You are required to choose the best substitute for the given options
Everyone in the meeting praised Atul for his presentation, suddenly from behind Rakesh stood up "to raise his opposition".
Rakesh is

Q-28

ProtagonistA SidekickB

AntagonistC FriendD
Correct Answer : 0

Select the right option to fill up the blanks She shall ____ your ice-cream parlour soon because she ____ ice-creamQ-29

Be Visiting, LikeA Visit, LikesB

Have Been Visiting, Is LikingC Visiting, LikeD
Correct Answer : 0

Select the right option to fill up the blanks Shakespeare _____ dramas that are appealing to the people of all ages.Q-30



WroteA Had WrittenB

Had Been WritingC Has WrittenD

Correct Answer : 0

Given below are the statements with blanks. You are required to fill in the blanks with appropriate words given in the
option so that the sentence appears to be in the correct form of Tense The barber _____ his finger while he ____ off my
hair.

Q-31

Had Cut, Was ChoppingA Cut, ChopB

Cut, Was ChoppingC Cuts, Had Been ChoppingD
Correct Answer : 0

Given below are the statements with blanks. You are required to fill in the blanks with appropriate words given in the
option so that the sentence appears to be in the correct form of Tense My voice reverberated ____ the walls of the castle.

Q-32

FromA OnB

WithC WithinD
Correct Answer : 0

Select the correct suffix: ScholarQ-33

ErA TyB

HoodC ShipD
Correct Answer : 0

Select the proper prefix: MeritQ-34

ReA DiB

DeC DiD
Correct Answer : 0

Find in the blanks with correct Homophones. The king died _____Q-35

HarelessA HeirlessB

HairlessC AirlessD
Correct Answer : 0

Find in the blanks with correct Homophones. Please remove the _____Q-36

RidA ReedB

ReadC RedoD
Correct Answer : 0

Fill in the blanks with appropriate word Do you want ____ a cup of tea?Q-37

TakesA To TakeB

TakeC TakingD
Correct Answer : 0

Fill in the blanks with appropriate word Experiments are going on ____ a remedy for diabetes.Q-38

FindA FindsB

FindingC To FindD
Correct Answer : 0

Find in the blanks with gerunds. On Sundays I go ----Q-39

FishA To FishB

FishesC FishingD
Correct Answer : 0

Find in the blanks with gerunds. I remember ---- you last year.Q-40

MeetA MetB

MeetingC To MeetD
Correct Answer : 0

Select the correct plural forms. WomanQ-41



WomensA WomansB

WomenC WomansesD
Correct Answer : 0

Select the correct plural forms. BacteriumQ-42

BacteeriaA BacteriasB

BacteriumC BacteriaD
Correct Answer : 0

Find out the Adjective SeasonQ-43

SeasonalA SeasoningB

SeasonableC SeasonedD
Correct Answer : 0

Find out the Adjective AffectionQ-44

AffectA AffectionateB

AffectinglyC AffectionatelyD
Correct Answer : 0

Synder, Daly and Bruns have recently proposed that caffeine affects behaviour by countering the activity of the brain of a
naturally occurring chemical called adenosine. What chemical of the brain is countered on drinking coffee?

Q-45

CaffeineA AdenosineB

Nothing Is CounteredC Nitrous OxideD
Correct Answer : 0

For many years, caffeine's effects have been attributed to its inhibition of the production of phosphodiesterase, an enzyme
that breaks down the chemical called cyclic AMP. Phosphodiesterase is

Q-46

HerbA VitaminB

EnzymeC ParasitD
Correct Answer : 0

Coffee beans are two types C. Arabica and C. Robusta. It is cultivated in over 70 countries. Point out the option that is
untrue about coffee

Q-47

One Variety Of Coffee Is C. RobustaA It Is Very SweetB

One Variety Is C. ArabicaC It Is Cultivated In Over 70 CountriesD
Correct Answer : 0

Canned coffee is popular in Asian countries. Coffee vending machines were invented in 1947.What was invented in 1947?Q-48

CoffeeA Asian CountriesB

Coffee Vending MachineC ChocolatesD
Correct Answer : 0

Espresso coffee contains magnesium, B vitamins, niacin while Brewed coffee contains no essential nutrients. Brewed coffee
contains

Q-49

MagnesiumA NiacinB

No NutrientsC B VitaminsD
Correct Answer : 0

Select the correct Question Tags Let us playQ-50

Can We?A Do We?B

Shall We?C Shalln'T We?D
Correct Answer : 0

THE PARTITION OF BENGAL HAD WAS ANNULLED IN 2Q-51

1909A 1906B

1911C 1910D
Correct Answer : 0



WHAT IS SWATCH OF NO GROUNDQ-52

An IslandA Submarine CanyonB

A VolcanoC A Hanging ValleyD
Correct Answer : 0

JOINT FOREST MANAGEMENT WAS FIRST SUCCESSFUL IN WEST BENGAL INQ-53

Pashari Village Of Medinipur DistrictA Bhulavillage Of Bankura DistrictB

Natun Band Village Of Bankura DistrictC Arabari Village Of Medini Pur DistrictD
Correct Answer : 0

SALT LAKE HAS BECOME A CENTRE OFQ-54

Computer Soft Ware IndustriesA It IndustryB

Eleltronic IndustryC Engineering IndustryD
Correct Answer : 0

JUTE IS MAINLY GROWN INQ-55

Tamil NaduA West BengalB

KeralaC Himachal PradeshD
Correct Answer : 0

BIRDS DIFFER FROM BAT IN THE ABSENCE OFQ-56

Warm BloodA Four Chambered HeartB

TracheaC DiaphragmD
Correct Answer : 0

WATER RISES UP A CAPILLARY TUBE BECAUSE OFQ-57

ElaticityA Surface TensionB

ViscocityC Its DensityD
Correct Answer : 0

GRANTS -IN-ALD ARE PROVIDED FOR IN THE CONSTITUTION OF INDIA UNDER ARTICLESQ-58

274 & 275A 275 & 296B

275 & 285C 275 & 282D
Correct Answer : 0

WHATMEANT BY SEBI ?Q-59

Women Welfare OrganisationA Integrated Credit SchemeB

International Sports AuthorityC Securities And Exchange Board Of IndiaD
Correct Answer : 0

NAME THE COUNTRY WHERE THE NEXT OLYMPIC GAMES IS SCHEDULED TO BE HELDQ-60

QatarA JapanB

RussiaC ChinaD
Correct Answer : 0

WHICH ONE OF THE FOLLOWING IS NOT AN AUTOTROPHQ-61

GrassA Green AlgaeB

FungusC FernD
Correct Answer : 0

PRESIDENT OF  INDIA IS DIRECTLY ELECTED BYQ-62

The People Of IndiaA Cabinet MinisterB

MpsC Elected Mlas & MpsD
Correct Answer : 0

STRUCTURAL ADJUSTMENT POLICY WAS INTRODUCEDBY INDIA ON TAKING LOAN FROMQ-63

ImfA World BankB

A i D l t B kC E U i



Asian Development BankC European UnionD
Correct Answer : 0

WHO HAS WRITTEN THE BOOK "I DO WHAT I DO'Q-64

Kaushik BasuA Raghuram RajanB

ArvindpanagariaC Urjit PatelD
Correct Answer : 0

SHER SHAH DIED WHILE ATTACKING ?Q-65

ManduA RaisinB

MaswarC KalinjarD
Correct Answer : 0

JADUGORA MINES ARE FAMOUS FORQ-66

Iron-Ore DepositA Coal DepositB

Uranium DepotC None Of TheseD
Correct Answer : 0

WEST BENGAL HAS INTERNATIONAL BOUNDARIES ONQ-67

NorthA North And North EastB

North West & South EastC North, North West, South EastD
Correct Answer : 0

VITAMIN C isQ-68

TopopherolA Cyano Cobal AmineB

Ascorbic AcidC ThiamineD
Correct Answer : 0

WHO HAS WON THE NOBEL PRIZE FORLITERATURE IN THE YEAR 2020Q-69

Lewis GlaukA Kajio IshiguroB

Bob DylonC Swetlana AlexivitchD
Correct Answer : 0

RICE IS BY FAR THE MOST IMPORTANT CROP OF WEST BENGALCOVERING AROUTQ-70

50% Of Net Cultivated AreaA 75% Of Net Cultivated AreaB

60% Of Net Cultivate AreaC 68% Of Net Cultivate Area.D
Correct Answer : 0

WHO WAS THE MUGHAL EMPEROR DURING WHOSE REIGNNADIR SHAH INVADED INDIA?Q-71

Farrukh SiyarA Bahadur ShahB

Muhummud ShahC Shah AlamD
Correct Answer : 0

SAND DUNES FORM ? MAJOR TOPOGRAPHIC FEATURE OFQ-72

Eastern RajasthanA Western RajasthanB

PunjabC GujtratD
Correct Answer : 0

THELARGEST AREA UNDER WASTELAND IN INDIA IS IN:Q-73

Uttar PradeshA Madhya PradeshB

RajasthanC GujratD
Correct Answer : 0

BARAKAR IS THE MAJOR TRIBUTORY OFQ-74

MahanadiA GangaB

DamodarC AjoyD
Correct Answer : 0



PLANTS STORE GLUCOSEFORM OFQ-75

MonosaccharideA CelluloseB

StarchC GlycogenD
Correct Answer : 0

TO PASS A MONEY BILI IN THE PARLIAMENT WHICH OF THE FOLLOWING IS NOT NECESSARY?Q-76

Approval Of The LoksavaA Approval Of The FinanceministerB

Approval Of Rajya SavaC None Of TheseD
Correct Answer : 0

WORLD TRADE ORGANISATION WAS ESTABLISHED IN THE YEARQ-77

1986A 1955B

2000C 2005D
Correct Answer : 0

NOBEL PRIZE WINNER FOR' ELONOMICS' FOR THE YEAR 1919 WERE:Q-78

Paul Milgram & Robert WilsonA Abhijit Binayak Banerji, Esther Dufflo & Michael
Cramer

B

Paul M Romer & William D NardausC Oliver Hutt & Bengt HomstromD
Correct Answer : 0

THE MORLEY - MINTO REFORM WAS DECLARED IN THEYEARQ-79

1907A 1909B

1911C 1919D
Correct Answer : 0

WHO IS THE PRESENT PRIME MINISTER OF JAPANQ-80

Sinzo AbeA Yoshide SugaB

Akiro YosinaC None Of TheseD
Correct Answer : 0

WEST BENGAL LIES BETWEENQ-81

85°50'E - 89°50'EA 85°30'E - 90°EB

85°E - 89°30'EC 85°E - 90°ED
Correct Answer : 0

WHICH ARTICLE OF THE CONSTITUTION OF INDIAGIVES WORKING DEFINITION OF THE INDIAN STATE ?Q-82

Article 10A Article 11B

Article 12C Article 13D
Correct Answer : 0

RECENTLY IN 2020 WHICH BANK HAS BEEN MERGED WITH THE PUNJAB NATIONAL BANKQ-83

Bank Of MaharastraA Bank Of IndiaB

United Bank Of IndiaC Allahabad BankD
Correct Answer : 0

NAME THE AUTHOR OF THE BOOK "HUNGRY TIDE"Q-84

Amitava GhoshA Jhumpa LahiriB

Chetan BhagatC Shashi TharoorD
Correct Answer : 0

PHENYL USED IN HOUSE HOLD WORK IS A DERIVATIVE OFQ-85

Methyl AlcoholA Tartaric AcidB

BenzyneC AnthraceneD
Correct Answer : 0

SATISH DHAWAN SPACE CENTRE LOCATED AT 130°NORTH LATITUDE IS SITUATED ATQ-86



ChennaiA ShriharikotaB

TrombayC ChandipurD
Correct Answer : 0

WHAT IS 'DASTAK'?Q-87

A Book By CliveA A Free PassB

Permission To Trade Without TaxC Donation By The Mughal EmperorD
Correct Answer : 0

NERVE CELLS ORIGINATE FROM THE EMBRYONICQ-88

EctodermA EntodermB

MesodermC Both Endo And MesodermD
Correct Answer : 0

WHO HAS WON THE US OPEN LAWN TENNIS CHAMPIONSHIP FOR MEN IN THE YEAR 2020Q-89

D JokovitchA Dominic ThiemB

Rafael NadalC Andy MurrayD
Correct Answer : 0

WHAT is THE DURATION OF AN ELECTED BODYOF PANCHAYATI RAJ ?Q-90

1 YearA 3 YearsB

4 YearsC 5 YearsD
Correct Answer : 0

WHO IS THE PRESENT PRESIDENT OF SRI LANKAQ-91

M RajapaksheA G RajapaksheB

R VikramasingheC M SirisenaD
Correct Answer : 0

QUEEN VICTORIA BECAME EMPRESS OF INDIA BYQ-92

Royal Titles Act, 1876A Act Of 1858B

Council Act, 1861C Act Of 1872D
Correct Answer : 0

ATTEMPT IS BEING MADE TO REGULATE VEHICULAR POLLUTION BY AUTORICKSHAWS THROUGH SWITCHING OVER TOQ-93

PetrolA Alcoholic FuelB

OngC DieselD
Correct Answer : 0

TSUNAMIS ARE GENERATED BYQ-94

Undersea Plate MovementsA Tidal ChangeB

Undersea VolcanismC None Of The AboveD
Correct Answer : 0

MALARIA IS CAUSED BYQ-95

PlasmodiumA Anopheles MosquitoB

Culex MosquitoC Bad AirD
Correct Answer : 0

INDIAN CONSTITUTION CAN BE AMENDED UNDER ARTICLEQ-96

220A 368B

390C 239D
Correct Answer : 0

NABARD is ASSOCIATED WITHQ-97

Industrial DevelopmentA Urban DevelopmentB

Rural DevelopmentC Development Of RailwaysD
C A 0



Correct Answer : 0

WHO IS THE PRESENT CHIEF OF INDIAN ARMYQ-98

Bipin RawatA Dalbik Sing SuhagB

Manoj Mukund NarvaneC Karambir SingD
Correct Answer : 0

THE MOST IDEAL REGION FOR CULTIVATION OFTEA IN WEST BENGAL ISQ-99

MaldaA JalpaiguriB

DarjilingC Cooch BeharD
Correct Answer : 0

WHICH OF THE FOLLOWING SEA PORTS HAS NATURAL HARBOUR?Q-100

ChennaiA VishakhapatnamB

HaldiaC New TuticorinD
Correct Answer : 0

The length and breadth of a rectangular field are in the ratio of 3 : 2. If the perimeter of the field is 80m, its breadth (in
meters) is :

Q-101

18A 16B

10C 24D
Correct Answer : 0

If the total surface area of a hemisphere is 27re square cm, then the radius of the base of the hemisphere isQ-102

9√3 CmA 3 CmB

3√3 CmC 9 CmD
Correct Answer : 0

The H.C.F. of two numbers is 8. Which one of the following can never be their L.C.M.?Q-103

24A 48B

56C 60D
Correct Answer : 0

If the sum of two numbers is 22 and the sum of their squares is 404, then the product of the numbers is:Q-104

40A 44B

80C 88D
Correct Answer : 0

If 10% of m is the same as 20% of n, then m:n is equal to :Q-105

2:1A 1:2B

1:10C 1:20D
Correct Answer : 0

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced by 200
km/hr and the time of flight increased by 30minutes. The duration of the flight is:

Q-106

1 HourA 2 HoursB

3 HoursC 4 HoursD
Correct Answer : 0

A man complete a journey in 10 hours. He travels first half of the journey at the rate of 21 km/hr and second half at the
rate of 24 km/hr. Find the total journey in km.

Q-107

220 KmA 224 KmB

230 KmC 234 KmD
Correct Answer : 0

The ratio between the speeds of two trains is 7: 8. If the second train runs 400 kms in 4 hours, then the speed of the first
train is:

Q-108

70 Km/HrA 75 Km/HrB

84 Km/HrC 87.5 Km/HrD



Correct Answer : 0

A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The average speed for the first 320 km
of the tour is:

Q-109

35.55 Km/HrA 36 Km/HrB

71.11 Km/HrC 71 Km/HrD
Correct Answer : 0

A car travelling with 5/7 of its actual speed covers 42 km in 1 hr 40 min 48 sec Find the actual speed of the car.Q-110

17 6/7 Km/HrA 25 Km/HrB

30 Km/HrC 35 Km/HrD
Correct Answer : 0

In a certain school, 20% of students are below 8 years of age. The number of students above 8 years of age is of the
number of students of 8 years of age which is 48. What is the total number of students in the school?

Q-111

72A 80B

120C 100D
Correct Answer : 0

Two numbers A and B are such that the sum of 5% of A and 4% of B is two-third of the sum of 6% of A and 8% of [B]
Find the ratio of A:B

Q-112

2:3A 1:1B

3:4C 4:3D
Correct Answer : 0

In an election between two candidates, one got 55% of the total valid votes, 20%of the votes were invalid. If the total
number of votes was 7500, the number of valid votes that the other candidate got, was

Q-113

2700A 2900B

3000C 3100D
Correct Answer : 0

Three candidates contested an election and received 1136, 7636 and 11628 votes respectively. What percentage of the
total votes did the winning candidate get?

Q-114

0.57A 0.6B

0.65C 0.9D
Correct Answer : 0

Two tailors X and Y are paid a total of Rs. 550 per week by their employer. If X is paid 120 percent of the sum paid to Y,
how much is Y paid per week?

Q-115

Rs. 200A Rs. 250B

Rs. 300C None Of TheseD
Correct Answer : 0

Find the greatest number that will divide 43,91 and 183 so as to leave the same remainder in each case.Q-116

4A 7B

9C 13D
Correct Answer : 0

The H.C.F. of two numbers is 23 and the other two factors of their L.C.M. are 13 and 14. The larger of the two numbers is:Q-117

276A 299B

322C 345D
Correct Answer : 0

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds respectively. In 30 minutes, how
many times do they toll together?

Q-118

4A 10B

15C 16D
Correct Answer : 0



Let N be the greatest number that will divide 1305, 4665 and 6905, leaving the same remainder in each case. Then sum
of the digits in N is:

Q-119

4A 5B

6C 8D
Correct Answer : 0

The greatest number of four digits which is divisible by 15, 25, 40 and 75 is:Q-120

9000A 9400B

9600C 9800D
Correct Answer : 0

A fires 5 shots to B's 3 but A kills only once in 3 shots while B kills once in 2 shots. When B has missed 27 times, A has
killed:

Q-121

30 BirdsA 60 BirdsB

72 BirdsC 90 BirdsD
Correct Answer : 0

To fill a tank, 25 buckets of water is required. How many buckets of water will be required to fill the same tank if the
capacity of the bucket is reduced to two-fifth of its present ?

Q-122

10A 35B

62.5C None Of TheseD
Correct Answer : 0

In a regular week, there are 5 working days and for each day, the working hours are 8. A man gets Rs. 2.40 per hour for
regular work and Rs. 3.20 per hours for overtime. If he earns Rs. 432 in 4 weeks, then how many hours does he work for?

Q-123

160A 175B

180C 195D
Correct Answer : 0

The number of notebooks each child got was one-eighth of the number of children. on equal distribution. Had the number
of children been half, each child would have got 16 notebooks. Total how many notebooks were distributed?

Q-124

256A 432B

512C 640D
Correct Answer : 0

A man has some hens and cows. If the number of heads be 48 and the number of feet equals 140, then the number of
hens will be:

Q-125

22A 23B

24C 26D
Correct Answer : 0

Choose the correct word for the given alternatives which bears the same relationship to the word, as the first the bears
Vigilant & Alert :: Viable: ?

Q-126

ActiveA HopelessB

FeasibleC UsefulD
Correct Answer : 0

Chef is related to Restaurant in the same way Druggist is related to ?Q-127

MedicineA PharmacyB

StoreC ChemistD
Correct Answer : 0

Gravity is related to pull in the same way as Magnetism is related toQ-128

RepulsionA SeparationB

PushC AttractionD
Correct Answer : 0

Ecology is related to Environment in the same way as Histology is related to ?Q-129

TissuesA FossilsB



HistoryC HormonesD
Correct Answer : 0

Which of the following is the same as Wrestling, Karate, Boxing?Q-130

SwimmingA PoloB

Pole VaultC JudoD
Correct Answer : 0

Which of the following of the following is the same as Kathak, Bihu, Garbha ?Q-131

KathakaliA PongalB

BhangraC BharatanatyamD
Correct Answer : 0

Which of the following is the same as Radium, Polonium, Uranium ?Q-132

CaesiumA ThoriumB

BariumC StrontiumD
Correct Answer : 0

Choose the odd word:Q-133

MalariaA PlagueB

DengueC TetanusD
Correct Answer : 0

Choose the odd Word:Q-134

NecklaceA OrnamentB

BangleC RingD
Correct Answer : 0

Choose the and wood:Q-135

PolyesterA CottonB

TeryleneC NylonD
Correct Answer : 0

Choose the group of letters which is different from others.Q-136

PocgA KlizB

BudxC FqmvD
Correct Answer : 0

Choose the group of letters which is different from others:Q-137

FcgdeA TrqpsB

KjhmfC KhgjiD
Correct Answer : 0

In a certain Code, TEACHER is written as VGCEJGT. How is CHILDREN Witten in that code ?Q-138

EjknftgpA EjknfgtoB

EgknfiptC EjknegtpD
Correct Answer : 0

If ROAST is Coded as PQYUR in a certain language, then how with SLOPPY be coded in that language?Q-139

MrnaqnA NrmnqaB

QnmrnaC RannmqD
Correct Answer : 0

In a certain Coding, the word STATEMENT is written as TNEMETATS. In the same system of Coding What should be the
code for the word POLITICAL?

Q-140

LcatiliopA OpilitaclB

LacitlipoC LacitilopD
Correct Answer : 0



If SPIDER is written as PSDIRE in a certain code, how would COMMON will be written in that code?Q-141

OcommoA OcmmnoB

OcmomnC OcmmonD
Correct Answer : 0

Find the Next team of the series BMO, EOQ, HQS, ....?....Q-142

KsuA LmnB

SovC SowD
Correct Answer : 0

Find the Next team of the series BMX, DNW, FOU, ...?...Q-143

GhoA GpsB

HpsC HptD
Correct Answer : 0

Find the next term of the series WFB, TGD, QHG, ..?..Q-144

NijA NikB

NjkC OikD
Correct Answer : 0

Find the next term of the series AYD, BVF, DRH, …?....Q-145

FmiA GijB

GmjC HlkD
Correct Answer : 0

In each of the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives. Choose the correct alternative 1, 2, 5, 10, 17, 28

Q-146

30A 28B

27C 17D
Correct Answer : 0

In each of the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives. Choose the correct alternative 1, 5, 11, 19, 29, 55

Q-147

55A 41B

29C 19D
Correct Answer : 0

In each of the following number series, either one term is missing or is wrong, which has been givens one of the four
alternatives. Choose the correct alternative 2, 3, 5, 8, 13, 34

Q-148

21A 25B

29C 34D
Correct Answer : 0

In each of the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives. Choose the correct alternative 0, 3, 8, 15, 24, 33

Q-149

8A 15B

26C 33D
Correct Answer : 0

In each of the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives. Choose the correct alternative 1, 5, 14, 30, 55, 93

Q-150

97A 95B

93C 55D
Correct Answer : 0


